N of associated (recoToSim) looper tracks vs normalized X’

10 12 14 16 18 20

8

6

4

2

track x?

berset

tracks vs normalized x?

)

(recoToSim,

LTI R LTI RAR T

Biif

0 2 4 6 8 10 12 14 16 18 20

[N o associated

lized X2

mal

track vs nor|

0

[N of reci

0 2 4 6 8 1012 14 16 18 20

track x2

track x2

o
-
syoeJ) ayed||dnp

)

(o) R
syoen ey -

10
.9)
0.8

o o
o
= -

S —
syoel ann

track x2
DQM_CRF_QCDHIghPt_base

DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epochl

2

< )

o o
Wv_om\alvjb

10

=1

oney

0 2 4 6 8 10 12 14 16 18 20

0.

N of reco track vs.

< ) ~

o
syoer™




	Contents
	Page 1


